SD43 X

(A TOHIN



SDEf R

SD-120s SD-120 SD-150s SD-150 SD-200s
1) s— 1[Fc200 1/2” 1/2” 1/2” 1/2"s 1/2”s
2|A—4— 1[Fc200 1/2” 1/2” 1/2” 1/2”s 1/2”s
3| vk 1[scm440H 1/2” 1/2” 1/2” 1/2"s 1/2”s
4F11R 4R 1/2” 1/2” 1/2”
4|FC200 1/2"s 1/2”s
5|5 LR 1/2” 1/2” 1/2” 1/2”s 1/2”s
6|INTFYLY 2| 5548 620227 620227 620222 620277 620277
710U25 2|NBR S-105 S-105 S-105 S-105 S-105
8lA AL —IL 1[NBR 14-30-7 14-30-7 14-30-7 14-30-7 14-30-7
9 v IMAIZU RIS vk (P 1[FCc200 1/2” 1/2” 1/2” 1/2” 1/2”
10| R IMATURTS4 v (THAID 1|FC200 1/2” 1/2” 1/2” 1/2” 1/2”
11|/v9EY 4|CK5 ®5x14L d5x14L ®5x14L ®5x14L ®5x14L
12|75FRILE 2|ss M8 x 20L M8 x 20L M8 x 20L M8 x 20L M8 x 20L
137D fEvI—)— 1|FC200 7"M1-¢ 13 7"M1-¢ 13 7"M1-¢ 13 7"M1-¢ 13 7"M1-¢ 13
14|ty hRILE 1[scm M6 x 10L M6 x 10L M6 x 10L M6 x 10L M6 x 10L
15|k&0 EE 1[spPc SD~251s SD~251s SD~251s SD~251s SD~251s
16| T7—J4L3—% X 1[PE 120s~401s 120s~401s 120s~401s 120s~401s 120s~401s
17| TF7—24)L5— 1{9L4y JLv1E Lav2E Lav2E ILiv2E Lav2E
18| TF7—D4ILA—hH/\— 1[PE 120s~401s 120s~401s 120s~401s 120s~401s 120s~401s
19| FESE 1[ss b6 b6 b6 b6 b6
20| B IL 1[ss M6 x 151 M6 x 15L M6 x 151 M6 x 151 M6 x 151
21 =F/ X)L 1| B L16 L16 L16 L16 L16
22|05 1[NBR P-6 P-6 P-6 P-6 P-6
23| +FH/hRY 1|SS M6 x 20L M6 X 20L M6 X 20L M6 X 20L M6 X 20L
24| T )LRF—RO 1[zDC 3/8”x ¢13.8
2|PBT 1/2” X 19 1/2” X 19 1/2” X 19 1/2” % 19
25(7XARILE 2|ss M8 x 151 M10 x 16L M10 x 16L M10 x 16L M10 x 16L
26|/ \REES 2|ss 8 @10 ®10 10 ¢ 10
27| Fr/N\— 1[spPc 0170 X 60 240x180%x60 [240x 180X 60 [240X 180X 60  [240 X 180 X 60
28| AT —DKRIK 1|PC SD SD SD SD SD
29|#5RHR 1|POM SD SD SD SD SD
eV 1[NBR S-53 S-53 S-53 S-53 S-53
3 |+FRSRIMNRD 2|Ss M4 x 121 M4 X 12L M4 X 121 M4 X 12L M4 X 12L
32105 2|INBR P-4 P-4 P-4 P-4 P-4
33|AAILANL—F— 1|E#. SUS ) SD SD SD SD
A AMIIBERE—R 1|15 ¢} 4/6 x 2551 d4/6x275L @4/6 % 275L d4/6x275L ®4/6 % 275L
35|7/h— AR 2| ERR ¢6 P6 6 b6 6
36|A 1 ILEURF—R 1|18IEE=—)L | 13/18X115L [p17x24X190L |p17Xx24x 190L | p17 % 24 x 200L | 17 x 24 X 200L
37|FR—R/NUKR 2| ERR b 19 b 25 25 ¢ 25 b 25
B|REFKK 1|zDC 3/8” 1/2” 1/2” 1/2” 1/2”
39| R—JL 1[Secr 5/16" 5/16" 5/16" 5/16" 5/16"
M ESIPZi 1[sus $6x07x30L |p6Xx07%x30L |[Pp6x07X30L |Pp6x07X%X30L |d6x0.7%30L
A0y +vbk 1[BsBM 1/4” 1/4” 1/4” 1/4” 1/4”
INEEES 1| B 1/4” 1/4” 1/4” 1/4” 1/4”
43|33 LSy ¥ 1[NBR P-14 $32%x21x30t [p32x21x30t [p32x21x30t [p32x21%x30t
44|75 F vk 2|SsS M8 M8 M8 M8 M8
45|/ \REESE 2|ss 8 b8 8 ®8 ¢8
463 L \yF 2|NBR ¢ 30%8x%3.0t ¢ 30%8x3.0t ®30x8x3.0t $30x8x3.0t $30x8x3.0t
47| E—% 1 100V-4P-0.15kW [100V-4P-0.15kW [100V-4P-0.2kW |[100V-4P-0.2kW |100V-4P-0.25kW
48| E—4—lvI—1) 1[Fc200 2-1/2"M1- 14 |2-1/2"M1-p 14 [3"M1-¢ 14 2-1/2"M1-p 14 |3"M1-¢ 14
1[Fc200 2"M1-¢ 14 2"M1-¢ 14 2-1/2"M1-p 14 |2"M1-¢p 14 2-1/2"M1-¢ 14
49|ty ILE 1[scm M6 x 10L M6 x 10L M6 x 10L M6 x 10L M6 x 10L
50|V~ )Lk [1EPN M-30 M-33 M-33 M-33 M-33
51|75ARILE ARS M6 x 15L M6 X 15L M6 X 15L M6 X 15L M6 X 15L
52| FREE 4[ss b6 b6 06 b6 b6
53|/ \REE 4ss b6 b6 b6 b6 b6
54| E—4—EftRFT vk 2|sPC C-2 C-2 C-2 C-2 C-2
55| BR—X 1[sPc 120s 150s 150s 200s 200s
56|H/\—EET L 2|3 L 120s 150s 150s 200s 200s
IE 1[spPc 120s 150s 150s 200s 200s
58| FrvEH 1|PBT 1/2” 3/4” 3/4” 3/4” 3/4”
59(itH AT LA 1|ZDC 1/2” %X ¢ 185
1|PBT 3/4” x ¢ 27 3/4” x ¢ 27 3/4” x ¢ 27 3/4” x ¢ 27
60| HAR—X 1[&1EE=-) ¢} 18/24x 115 $26/34x150L | 26/34x150L |p26/34%150L |¢p26/34 % 150L
61|7/R— AR 2| ERfR 25 ¢35 35 ¢35 ¢35




	SD-200 分解図(番号振済）　線幅変更.pdf
	20220303　ブロワー部品リスト　ＳＤ.pdf

